Normal Operation
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Hall sensor
angle skewed 60 degrees
FWD= STUCK!
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Hall sensor
angle skewed 60 degrees
REV: weak rotation




Hall High | Low HB and HC swapped
Encoder
A=HAC A B C B A F E D
B=HA A C HA
C=HAB B C
D=HB B A
E=HBC C A
C B

Stuck in D-E
4

SC Stuck in F



D'R=1|:F°R Hall High Low HB and HC Swapped, reverse

|
I | Encoder
|

|

|

| -

| I A=HAC

HC | ‘ | | | B=HA

|

|

|

|

Cc BA F E D

| C=HAB

B
C
| |
| , C
5“T___ﬁ___ﬁ\\\\L___L___J//// b=H8 A
| | |
| | B
| |
| |
| |

F=HC

Hag "~ Tostuckin F

To Stuck in C
sc Stuck in F SC TostuckinF sC 5



Hall
Encoder

High

Low

A=HAC

B=HA

C=HAB

D=HB

E=HBC

I |>|O|O0O |

O|lo|lw || >|>

F=HC

Hall encoder C stuck at 0, FWD

4 of 6 phase CCW,
1 phase HiZ, 1 phase CW




Hall
Encoder

High

Low

HAC

HA

HAB

Hall encoder C stuck at 0, REV

4 of 6 phase CW,
1 phase HiZ, 1 phase CCW
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